Armaclad. (fiBeraLass ‘JHibow (DysTem

Windows & Doors 1011 COMMERCIAL AWNING

Divislon of Sound Sclutions, LLT

PAN-002 - 15/16" ALUMINUM

JAMB EXTENDER FLASHING

FEATURES

15/16"

PAN-002 Flashing is a .050 thick aluminum extrusion designed to
be a "panning face expander" when the gap between the exterior
veneer and the panning is too wide to be neatly filled with backer

Locks into
Accessory Kerf

rod and sealant.

PREPARING THE FLASHING COMPONENT
STEP 1 - Cut flashing to required length.

[@)]
Llo
(8]
£|®
[a
>
S~
™M
(o]
'_
S \.050 Thick Flange can be
r Trimmed Shorter if Required

STEP 2 - Place continuous bead of adhesive sealant along the full length of the panning in the location shown to provide a water

tight seal.

o

INSTALLING THE FLASHING COMPONENT

—

Section 2 - IACTM

—

Position on the prepared Flashing Component on the panning and
using a wood block and mallet push it into the accessory kerf to
the locked position.

When the flashing installation is complete, clean away any sealant
squeeze out from the exposed face.

2.6.1 Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Sl 1011 COMMERCIAL AWNING

PAN-006 - 3" ALUMINUM EXTERIOR
SLOPED SILL EXTENDER

FEATURES
MATERIAL: .072 Thick Aluminum Extrusion

311/16"

PAN-006 has been designed to provide
a Sloped Sill Option for Standard
Armaclad Panning Profiles PAN-003,

Ei PAN-004 and PAN-005

11/16

3 3/16"

Locks into

Accessory Kerf \
311/16" ‘ 2 13/16"

Screw Bosses Align with\/ \ Designed to be used with the standard
with Screw Ports on Panning Armaclad Anchor Clip for solid
Profiles noted above installations

17

Section 2 - IACTM 2.6.2 Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Sl 1011 COMMERCIAL AWNING

T PAN-006 - 3" ALUMINUM EXTERIOR
SLOPED SILL EXTENDER

SIZING THE WINDOW UNIT SCALE: 1:4
Kok FRAME WIDTH + 4 3/4"
*k 35/16" | FRAME WIDTH |
N [_] 77777777 [_} C o
N
— =
— =2
2" PANNING WIDTH 2"
i (FRAME WIDTH + 3/4")
| ©
! =
~ i °N‘ ** Dimensions to be determined by panning selection.
:—D| | ~ =+
o | 5| &
G|+ | § o
w|E= ! w
T
o|S | 2l 2
z|4 I =
=1 | L2
e | .
[a P ‘
L
1 = —
311/16" | 2 13/16"
[
6 1/2"

Section 2 - IACTM 2.6.3 Mar 2011



Arma . JfiseraLass JHiNbow (JysTEM
Windows &S 1011 COMMERCIAL AWNING

PAN-006 - 3" ALUMINUM EXTERIOR
SLOPED SILL EXTENDER

PREPARING THE SILL PAN COMPONENT

STEP 1 - Place continuous bead of adhesive sealant along the full length of the panning in the location shown to
provide a water tight seal and additional strength to the assembly.

Section 2 - IACTM 2.6.4 Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Sl 1011 COMMERCIAL AWNING

T PAN-006 - 3" ALUMINUM EXTERIOR
SLOPED SILL EXTENDER

PANNING INSTALLATION - 1 of 2

STEP 1 - Align Prepared Sill Panning component with sill and carefully set it in place insuring that it is properly nested into the
frame. (See Cross Section page 2.1.38 for additional illustration)
NOTE: Paning PAN-009 shown on Head and Side Jambs for reference purposes. See page 2.5.21 thru 2.5.27 for additional detail.

Panning Nested
into Frame

Section 2 - IACTM 2.6.5 Mar 2011



Armaclad. (JfiBeraLass JHiNpow (JysTEm
Windows Sl 1011 COMMERCIAL AWNING

T PAN-006 - 3" ALUMINUM EXTERIOR
SLOPED SILL EXTENDER

PANNING INSTALLATION - 2 of 2

STEP 2 - Fasten bottom corners using #8 x 2" Pan Head Sheet Metal Screws though the pre-drilled holes in the Sill Panning
into the Screw Ports in the Side Panning.

STEP 3 - Place continuous bead of sealant around the exterior perimeter joint of the Head and Side Jamb Panning and Window
Frame to provide a complete air and water seal.

STEP 4 - Place continuous bead of sealant along the Panning Corner Joints to insure that thet are completely sealed.

NOTE: Paning PAN-009 shown on Head and Side Jambs for reference purposes. See page 2.5.21 thru 2.5.27 for additional detail.

STEP 3

-

SILL SECTION —

STEP 2 Note: See page 2.3.38 for Cross Section Details

STEP 4

(.

Exterior Elevation View

Section 2 - IACTM 2.6.6 Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Sl 1011 COMMERCIAL AWNING

PAN-006 - 3" ALUMINUM EXTERIOR
SLOPED SILL EXTENDER

PANNING INSTALLATION CROSS SECTIONS SCALE: 1:2

PAN-009 shown on side jamb
for reference purposes.

SILL SECTION

Section 2 - IACTM 2.6.7 Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Sl 1011 COMMERCIAL AWNING

PAN-007 - 5" ALUMINUM EXTERIOR
SLOPED SILL EXTENDER

FEATURES

MATERIAL: .080 Thick Aluminum Extrusion

511/16"

/\!//r/—'_é _
i
Z
i
i
———/J v
PAN-007 has been designed to provide an
extended Sloped Sill Option for Standard
Armaclad Panning Profiles PAN-003,
PAN-004 and PAN-005
5 3/16"
Locks into
Accessory Kerf \
© N
5 11/1\6\ / ‘ 2 13/16"
I
Screw Bosses Align with\/ \ Designed to be used with the standard
with Screw Ports on Panning Armaclad Anchor Clip for solid

Profiles noted above installations

Section 2 - IACTM 2.6.8 Mar 2011



Arma

Windows & Doors

Divislon of Sound Sclutions, LLT

(fiBeraLass ‘JHibow (DysTem
1011 COMMERCIAL AWNING
PAN-007 - 5" ALUMINUM EXTERIOR

SLOPED SILL EXTENDER

SIZING THE WINDOW UNIT

k%

FRAME WIDTH + 4 3/4"

SCALE: 1:4

FRAME WIDTH

Ca

PANNING WIDTH

)% 35/16"
~
M
[
\ o
! =
! [e)}
o ‘ ~
o : A
| | ol k
olr ‘ o
'— I
% L ‘ w %
|2 | = w
Z W I < =
2|0 | E| =2
= | -
o é ‘
E-/ I
=] [
3
L
J A S—
511/16" | 2 13/16"
|
8 1/2"

Section 2 - IACTM

2.6.9

(FRAME WIDTH + 3/4")

Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Sl 1011 COMMERCIAL AWNING

T PAN-007 - 5" ALUMINUM EXTERIOR
SLOPED SILL EXTENDER

PREPARING THE SILL PAN COMPONENT

STEP 1 - Place continuous bead of adhesive sealant along the full length of the panning in the location shown to
provide a water tight seal and additional strength to the assembly.

Section 2 - IACTM 2.6.10 Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Sl 1011 COMMERCIAL AWNING

T PAN-007 - 5" ALUMINUM EXTERIOR
SLOPED SILL EXTENDER

PANNING INSTALLATION - 1 of 2

STEP 1 - Align Prepared Sill Panning component with sill and carefully set it in place insuring that it is properly nested into the
frame. (See Cross Section page 2.1.44 for additional illustration)
NOTE: Paning PAN-010 shown on Head and Side Jambs for reference purposes. See page 2.5.28 thru 2.5.34 for additional detail.

i i
N o L
I

Panning Nested
into Frame

Section 2 - IACTM 2.6.11 Mar 2011



Armaclad. (JfiBeraLass JHiNpow (JysTEm
Windows Sl 1011 COMMERCIAL AWNING

T PAN-007 - 5" ALUMINUM EXTERIOR
SLOPED SILL EXTENDER

PANNING INSTALLATION - 2 of 2

STEP 2 - Fasten bottom corners using #8 x 2" Pan Head Sheet Metal Screws though the pre-drilled holes in the Sill Panning
into the Screw Ports in the Side Panning.

STEP 3 - Place continuous bead of sealant around the exterior perimeter joint of the Head and Side Jamb Panning and Window
Frame to provide a complete air and water seal.

STEP 4 - Place continuous bead of sealant along the Panning Corner Joints to insure that thet are completely sealed.

NOTE: Paning PAN-010 shown on Head and Side Jambs for reference purposes. See page 2.5.28 thru 2.5.34 for additional detail.

STEP 3

-

SILL SECTION —

STEP 2 Note: See page 2.3.38 for Cross Section Details

STEP 4

(.

Exterior Elevation View

Section 2 - IACTM 2.6.12 Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Sl 1011 COMMERCIAL AWNING

PAN-007 - 5" ALUMINUM EXTERIOR
SLOPED SILL EXTENDER

PANNING INSTALLATION CROSS SECTIONS SCALE: 1:2

PAN-010 shown on side jamb
for reference purposes.

SILL SECTION

Section 2 - IACTM 2.6.13 Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Gl 1011 COMMERCIAL AWNING
| PAN-008 - 1 1/4" X 3/4"

ALUMINUM EXTERIOR JAMB EXTENDER

FEATURES

MATERIAL: .072 Thick Aluminum Extrusion

Designed to accommodate a
11/4" standard Bulb Style Weather Seal
with a 3/16" "T" slot type
installation application

"T" SLOT DETAIL

>

Designed to "Snap Fit" with the
Standard Armaclad Anchor Clip
with No Screws Required

<
~~
™M
CUT POINTS TO SIZE FLANGE AS REQUIRED
SET AT 1/4" INCREMENTS
~
Corner Joints Secured
with One #8 x 2" Screw \
Integral Nailing Fin—"
can be Removed if
Not Required
Locks Into Frame Components
so that No Screws need to
penetrate the fiberglass structure
Section 2 - IACTM 2.6.14

Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Gl 1011 COMMERCIAL AWNING
| PAN-008 - 1 1/4" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

SIZING THE WINDOW UNIT SCALE: 1:4
)% FRAME WIDTH + 4 3/4"
11/4" | 35/16" | FRAME WIDTH |
C R ===
— =
(] ]
> | PANNING WIDTH =
[

(FRAME WIDTH + 3/4") !

PANNING HEIGHT
(FRAME HEIGHT + 3/4")
FRAME HEIGHT
FRAME HEIGHT + 4 3/4"

Section 2 - IACTM 2.6.15 Mar 2011



Armaclad. (JfiBeraLass JHiNpow (JysTEm
Windows Gl 1011 COMMERCIAL AWNING
| PAN-008 - 1 1/4" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

PREPARING THE HEAD AND SILL PAN COMPONENTS
STEP 1 - Place continuous bead of adhesive sealant along full length of panning in location shown to provide additional strength
to the assembly.

STEP 2 - Place continuous bead of adhesive sealant along the full length of the panning in the location shown to provide an
additional line of defence from water penetration.

STEP 3 - Place continuous bead of adhesive sealant around profile shape on both ends to seal the panning corner joints.

PREPARING THE SIDE PAN COMPONENTS

STEP 1 - Place continuous bead of adhesive sealant along full length of panning in
location shown to provide additional strength to the assembly.

STEP 2 - Place continuous bead of adhesive sealant along the full length of the panning
in the location shown to provide an additional line of defence from water
penetration.

Section 2 - IACTM 2.6.16 Mar 2011



Arma

Windows & Doors

JfiseraLass JHiNbow (JysTEM
1011 COMMERCIAL AWNING
PAN-008 -1 1/4" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER
OPTIONAL BULB WEATHER SEAL

™

Divislon of Sound Sclutions, LLT

The Armaclad PAN-008 Panning has been designed to accommodate a standard Bulb Style Weather Seal with a 3/16" "T" slot
type installation application. A 1/8" diameter bulb is recommended.

177

WEATHER SEAL COMPRESSION CLEARANCE

.062

CUTTING BULB WEATHER SEAL TO LENGTH

L7

Cut Angle

|

|

|

|

To size the Bulb Weather Seal, push into "T" slot the full length until 3/4" to 1" overhangs at opposite end and cut off
both ends aligning a utility knife blade with the angle cut on the panning end.

Section 2 - IACTM

2.6.17

Mar 2011



Armaclaod. (JfiBeraLass JHiNpow (JysTEm
Windows Gl 1011 COMMERCIAL AWNING
| PAN-008 - 1 1/4" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

PANNING INSTALLATION - 1 of 2

STEP 1 - Align Prepared Head, Sill and Side Panning components with appropriate side of window and carefully set them in place
insuring that each piece is properly nested into the frame. (See Cross Section page 2.5.20 for additional illustrations)

A g
R

¢ 3

Panning Nested
into Frame

Section 2 - IACTM 2.6.18 Mar 2011



Armaclac. (JfiseraLass JHivbow (ystem
Windows Gl 1011 COMMERCIAL AWNING
| PAN-008 - 1 1/4" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

PANNING INSTALLATION - 2 of 2

STEP 2 - Fasten corners using #8 x 2" Pan Head Sheet Metal Screws though the pre-drilled holes in the Side Panning into the
Screw Ports in the Head and Sill Panning. (1 screw per corner joint)

STEP 3 - Place continuous bead of sealant around the exterior perimeter joint of the Panning and Window Frame to provide a
complete air and water seal.

STEP 4 - Place continuous bead of sealant along the Panning Corner Joints to insure that thet are completely sealed.

HEAD SECTION —

STEP 2

T

HINGE SIDE SECTION —
LOCK SIDE SECTION —

SILL SECTION —

STEP 3
STEP 4

Exterior Elevation View

Section 2 - IACTM 2.6.19 Mar 2011



Armaclod. (JfiseraLass JHivbow (ystem
Windows Gl 1011 COMMERCIAL AWNING
| PAN-008 - 1 1/4" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

PANNING INSTALLATION CROSS SECTION SCALE: 1:2

HEAD SECTION STEP 4 HINGE SIDE SECTION

SILL SECTION LOCK SIDE SECTION

Section 2 - IACTM 2.6.20 Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Gl 1011 COMMERCIAL AWNING
' PAN-009 - 2" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

FEATURES

MATERIAL: .072 Thick Aluminum Extrusion

Designed to accommodate a
2" standard Bulb Style Weather Seal
with a 3/16" "T" slot type
installation application

"T" SLOT DETAIL

>

Designed to "Snap Fit" with the
Standard Armaclad Anchor Clip
with No Screws Required

3
S~
™M
—
C
CUT POINTS TO SIZE FLANGE AS REQUIRED
SET AT 1/4" INCREMENTS
~
Corner Joints Secured
with Two #8 x 2" Screws N
Integral Nailing Fin—"
can be Removed if
Not Required
Locks Into Frame Components
so that No Screws need to
penetrate the fiberglass structure
Section 2 - IACTM 2.6.21

Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Gl 1011 COMMERCIAL AWNING
' PAN-009 - 2" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

SIZING THE WINDOW UNIT SCALE: 1:4

o FRAME WIDTH + 4 3/4"

2! 35/16 | FRAME WIDTH |

B ? — a ‘:ﬁ

2" PANNING WIDTH 2"
(FRAME WIDTH + 3/4")

PANNING HEIGHT
(FRAME HEIGHT + 3/4")
FRAME HEIGHT
FRAME HEIGHT + 4 3/4"

Section 2 - IACTM 2.6.22 Mar 2011



Armaclaod. (fBERGLASS JHiNDOW c\{{j”\'srw
Windows Gl 1011 COMMERCIAL AWNING
' PAN-009 - 2" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

PREPARING THE HEAD AND SILL PAN COMPONENTS
STEP 1 - Place continuous bead of adhesive sealant along full length of panning in location shown to provide additional strength
to the assembly.

STEP 2 - Place continuous bead of adhesive sealant along the full length of the panning in the location shown to provide an
additional line of defence from water penetration.

STEP 3 - Place continuous bead of adhesive sealant around profile shape on both ends to seal the panning corner joints.

9  \ (N

[y
L1

PREPARING THE SIDE PAN COMPONENTS

STEP 1 - Place continuous bead of adhesive sealant along full length of panning in
location shown to provide additional strength to the assembly.

STEP 2 - Place continuous bead of adhesive sealant along the full length of the panning
in the location shown to provide an additional line of defence from water
penetration.

Section 2 - IACTM 2.6.23 Mar 2011



Arma

Windows & Doors

JfiseraLass JHiNbow (JysTEM
1011 COMMERCIAL AWNING
PAN-009 - 2" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER
OPTIONAL BULB WEATHER SEAL

™

Divislon of Sound Sclutions, LLT

The Armaclad PAN-009 Panning has been designed to accommodate a standard Bulb Style Weather Seal with a 3/16" "T" slot
type installation application. A 1/8" diameter bulb is recommended.

(O

4 @ N 9
|

WEATHER SEAL COMPRESSION CLEARANCE

177

.062

CUTTING BULB WEATHER SEAL TO LENGTH

o

Cut Angle

|

|

|

|

To size the Bulb Weather Seal, push into "T" slot the full length until 3/4" to 1" overhangs at opposite end and cut off
both ends aligning a utility knife blade with the angle cut on the panning end.

Section 2 - IACTM

2.6.24

Mar 2011



Armaclaod. (fBERGLASS JHiNDOW c\{{j”\'srw
Windows Gl 1011 COMMERCIAL AWNING
' PAN-009 - 2" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

PANNING INSTALLATION - 1 of 2

STEP 1 - Align Prepared Head, Sill and Side Panning components with appropriate side of window and carefully set them in place
insuring that each piece is properly nested into the frame. (See Cross Section page 2.5.27 for additional illustrations)

g

Panning Nested
into Frame

Section 2 - IACTM 2.6.25 Mar 2011



Armaclac. (JfiseraLass JHivbow (ystem
Windows Gl 1011 COMMERCIAL AWNING
' PAN-009 - 2" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

PANNING INSTALLATION - 2 of 2

STEP 2 - Fasten corners using #8 x 2" Pan Head Sheet Metal Screws though the pre-drilled holes in the Side Panning into the
Screw Ports in the Head and Sill Panning. (2 screws per corner joint)

STEP 3 - Place continuous bead of sealant around the exterior perimeter joint of the Panning and Window Frame to provide a
complete air and water seal.

STEP 4 - Place continuous bead of sealant along the Panning Corner Joints to insure that thet are completely sealed.

HEAD SECTION —

STEP 2

T

HINGE SIDE SECTION —
LOCK SIDE SECTION —

SILL SECTION —

STEP 3
STEP 4

Exterior Elevation View

Section 2 - IACTM 2.6.26 Mar 2011



Armaclac. (JfiBeraLass JHiNpow (JysTEm
Windows Gl 1011 COMMERCIAL AWNING
' PAN-009 - 2" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

PANNING INSTALLATION CROSS SECTION SCALE: 1:2

A

HEAD SECTION

SILL SECTION

LOCK SIDE SECTION

Section 2 - IACTM 2.6.27 Mar 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows Gl 1011 COMMERCIAL AWNING
' PAN-010 - 3" X 3/4"

ALUMINUM EXTERIOR JAMB EXTENDER

FEATURES

MATERIAL: .072 Thick Aluminum Extrusion

Designed to accommodate a
3" standard Bulb Style Weather Seal
with a 3/16" "T" slot type
installation application

3 .050
R —»—
pmen .030
—<—
] J
CUT POINTS TO SIZE FLANGE AS REQUIRED N o
SET AT 1/4" INCREMENTS N X
7\‘ l

"T" SLOT DETAIL

Corner Joints Secured

with Two #8 x 2" Screws x

>

Designed to "Snap Fit" with the
Standard Armaclad Anchor Clip
with No Screws Required

Integral Nailing Fin—"
can be Removed if
Not Required

Locks Into Frame Components
so that No Screws need to
penetrate the fiberglass structure

Section 2 - IACTM 2.6.28 Mar 2011



Arma

Windows & Doors

Divislon of Sound Sclutions, LLT

(fiBeraLass ‘JHibow (DysTem
1011 COMMERCIAL AWNING

PAN-010 - 3" X 3/4"

ALUMINUM EXTERIOR JAMB EXTENDER

SIZING THE WINDOW UNIT

%k

35/16"

PANNING HEIGHT
(FRAME HEIGHT + 3/4")

FRAME HEIGHT

FRAME HEIGHT + 4 3/4"

Section 2 -

IACTM

SCALE: 1:4
FRAME WIDTH + 4 3/4"
FRAME WIDTH |
t_] 77777 U C o
— =
2" PANNING WIDTH 2"

(FRAME WIDTH + 3/4")

2.6.29 Mar 2011



Armaclaod. (fBERGLASS JHiNDOW c\{{j”\'srw
Windows Gl 1011 COMMERCIAL AWNING
' PAN-010 - 3" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

PREPARING THE HEAD AND SILL PAN COMPONENTS
STEP 1 - Place continuous bead of adhesive sealant along full length of panning in location shown to provide additional strength
to the assembly.

STEP 2 - Place continuous bead of adhesive sealant along the full length of the panning in the location shown to provide an
additional line of defence from water penetration.

STEP 3 - Place continuous bead of adhesive sealant around profile shape on both ends to seal the panning corner joints.

PREPARING THE SIDE PAN COMPONENTS

STEP 1 - Place continuous bead of adhesive sealant along full length of panning in
location shown to provide additional strength to the assembly.

STEP 2 - Place continuous bead of adhesive sealant along the full length of the panning
in the location shown to provide an additional line of defence from water
penetration.

Section 2 - IACTM 2.6.30 Mar 2011



Arma

Windows & Doors

JfiseraLass JHiNbow (JysTEM
1011 COMMERCIAL AWNING
PAN-010 - 3" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER
OPTIONAL BULB WEATHER SEAL

™

Divislon of Sound Sclutions, LLT

The Armaclad PAN-010 Panning has been designed to accommodate a standard Bulb Style Weather Seal with a 3/16" "T" slot
type installation application. A 1/8" diameter bulb is recommended.

(O

177
q
|

WEATHER SEAL COMPRESSION CLEARANCE

.062

CUTTING BULB WEATHER SEAL TO LENGTH

SN —

Cut Angle

|
To size the Bulb Weather Seal, push into "T" slot the full length until 3/4" to 1" overhangs at opposite end and cut off
both ends aligning a utility knife blade with the angle cut on the panning end.
Section 2 - IACTM

2.6.31

Mar 2011



Armaclaod. (fBERGLASS JHiNDOW c\{{j”\'srw
Windows Gl 1011 COMMERCIAL AWNING
' PAN-010 - 3" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

PANNING INSTALLATION - 1 of 2

STEP 1 - Align Prepared Head, Sill and Side Panning components with appropriate side of window and carefully set them in place
insuring that each piece is properly nested into the frame. (See Cross Section page 2.5.34 for additional illustrations)

eI
o

Panning Nested
into Frame

Section 2 - IACTM 2.6.32 Mar 2011



Armaclac. (JfiseraLass JHivbow (ystem
Windows Gl 1011 COMMERCIAL AWNING
' PAN-010 - 3" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

PANNING INSTALLATION - 2 of 2

STEP 2 - Fasten corners using #8 x 2" Pan Head Sheet Metal Screws though the pre-drilled holes in the Side Panning into the
Screw Ports in the Head and Sill Panning. (2 screws per corner joint)

STEP 3 - Place continuous bead of sealant around the exterior perimeter joint of the Panning and Window Frame to provide a
complete air and water seal.

STEP 4 - Place continuous bead of sealant along the Panning Corner Joints to insure that thet are completely sealed.

HEAD SECTION —

STEP 2

T

HINGE SIDE SECTION —
LOCK SIDE SECTION —

SILL SECTION —

STEP 3
STEP 4

Exterior Elevation View

Section 2 - IACTM 2.6.33 Mar 2011



Armaclac. (JfiBeraLass JHiNpow (JysTEm
Windows Gl 1011 COMMERCIAL AWNING
' PAN-010 - 3" X 3/4"
ALUMINUM EXTERIOR JAMB EXTENDER

PANNING INSTALLATION CROSS SECTION SCALE: 1:2

ﬁ_ﬁﬁ ]
|
I B .
i \
HEAD SECTION HINGE SIDE SECTION
STEP 4
\
| L &iqm
SILL SECTION
\
RIBEK HIDE SHRCMIOM

Section 2 - IACTM 2.6.34 Mar 2011



Arma . (fiBeraLass ‘JHibow (DysTem
wmdz:isidg:?:i 1011 COMMERCIAL AWNING

| PAN-014 - 2 1/2" ALUMINUM

JAMB EXTENDER FLASHING

i

FEATURES
Locks into
Accessory Kerf
()}
Llo
(9]
ElS
o
N
~
~—
(o]
o
™
E \ Flange can be Trimmed
~ Shorter if Required
°
(=}
1 )
PAN-014 Flashing is a .050 thick aluminum extrusion designed to
be a "panning face expander" when the gap between the exterior
veneer and the panning is too wide to be neatly filled with backer

rod and sealant.

Section 2 - IACTM 2.6.35 Mar 2011



Arma . JfiseraLass JHiNbow (JysTEM
wsmﬁﬁiﬂfi 1011 COMMERCIAL AWNING
| PAN-014 - 2 1/2" ALUMINUM
JAMB EXTENDER FLASHING

PREPARING THE FLASHING COMPONENT

STEP 1 - Cut flashing to required length.

STEP 2 - Place continuous bead of adhesive sealant along the full length of the panning in the location shown to provide a water
tight seal.

.0 —

4

INSTALLING THE FLASHING COMPONENT

Position the prepared Flashing Component on the panning and using a wood block and mallet push it into the accessory kerf to
the locked position.
When the Flashing Installation is complete, clean away any sealant squeeze out from the exposed face.

N

—

Section 2 - IACTM 2.6.36 Mar 2011



Armaclod. (JfiBeraLass JHiNpow (JysTEm
Windows! SR 1011 COMMERCIAL AWNING
- - MULLING DETAILS

CASEMENT PICTURE WINDOW OVER AWNING - 1 OF 2 SCALE: 1:2

PRE-DRILL FOR ANCHOR SCREW DETAIL

T_— 3/8"TO
3/16" STEP DRILL

17/8"

. mE.

NUMBER OF ANCHOR SCREWS REQUIRED
(By Frame Size)

Up to 47 15/16" = 4 Screws (2 in Each direction)
42" to 71 15/16" = 6 Screws (3 in each Direction)
72" and Over = 8 Screws (4 in Each Direction)

(Evenly Spaced)

APPLY 1/16" X 1/2" ON FULL LENGTH OF
ATTACH MULLION CORE TO FIXED CASEMENT UNIT PRE-CUT MULLION CORE (4 PLACES)

% Z

L

1/32" MAXIMUM
FLUSH WITH FRAME MINIMUM

HOLES IN FRAME AND THROUGH
POSITIONED MULLION CORE

9/64" DRILL THROUGH EXISTING

\ POSITION MULLION CORE FLUSH WITH OUTSIDE OF FRAME

Section 2 - IACTM 2.6.37 Apr 2011



Armaclod. (JfiBeraLass JHiNpow (JysTEm
Windows & Doors 1011 COMMERCIAL AWNING

Divislon of Sound Sclutions, LLT

MULLING DETAILS

CASEMENT PICTURE WINDOW OVER AWNING - 2 OF 2

PRE-DRILL FOR ANCHOR SCREW DETAIL

TO

émm g |
U :U N (—_9‘/
u_—)'é? o |

\F‘J )

Section 2 - IACTM

POSITION AWNING UNIT AGAINST MULLION
CORE ON BOTTOM OF FIXED UNIT AND SCREW

GETHER THROUGH PRE-DRILLED HOLES

SCALE: 1:2

—

#8 X 1 1/2" PAN HEAD SCREWS

DRILL & COUNTERSINK FOR A #8 SCREW
THROUGH FRAME, SPACED EQUALLY l
UNDER HINGE TRACK \\W
I~
I~
\

AN\

s

NN
N\ N\
S o

9/64" DRILL THROUGH EXISTING 2 =

HOLES IN FRAME AND THROUGH

RS NARREE

m: ERREE

(s

POSITIONED MULLION CORE (:?b?i 4

HIT

#8 X 2" PAN HEAD SCREWS /&J\

SEE HORIZONTAL MULLION -
FINAL ASSEMBLY INSTRUCTIONS
FOR ADDITIONAL DETAILS

2.6.38

Apr 2011



Arma

Windows & Doors

Divislon of Sound Sclutions, LLT

™

(JfiseraLass JHiNbow (JysTem
1011 COMMERCIAL AWNING

MULLING DETAILS

CASEMENT PICTURE WINDOW OVER AWNING - 1 OF 2

PRE-DRILL FOR ANCHOR SCREW DETAIL

S

s

NUMBER OF ANCHOR SCREWS REQUIRED

(By Frame Size)

Up to 47 15/16" = 4 Screws (2 in Each direction)
42" to 71 15/16" = 6 Screws (3 in each Direction)
72" and Over = 8 Screws (4 in Each Direction)

(Evenly Spaced)

ATTACH MULLION CORE TO FIXED CASEMENT UNIT

3/8" TO 3/16" STEP DRILL— |

\ POSITION MULLION CORE FLUSH WITH OUTSIDE OF FRAME

Section 2 - IACTM

2.6.39

SCALE: 1:2

11/2"

APPLY 1/16" X 1/2" ON FULL LENGTH OF
PRE-CUT MULLION CORE (4 PLACES)

%

7

1/32" MAXIMUM

FLUSH WITH FRAME MINIMUM

Y i)

///
/

7y
s

\

\

9/64" DRILL THROUGH EXISTING HOLE IN
HOLES IN FRAME AND THROUGH
POSITIONED MULLION CORE

\

Apr 2011



Armacla

Windows & Doors

Divislon of Sound Sclutions, LLT

(JfiBeraLass JHiNpow (JysTEm
1011 COMMERCIAL AWNING
MULLING DETAILS

CASEMENT PICTURE WINDOW OVER AWNING - 2 OF 2

PRE-DRILL FOR ANCHOR SCREW DETAIL

]
&Wl ssasseszaEaE i aEicint 9/64" DRILL THROUGH EXISTING
) Vf 2 [y HOLES IN FRAME AND THROUGH
o ” " POSITIONED MULLION CORE

Sy s (B

Section 2 - IACTM

POSITION AWNING UNIT AGAINST MULLION
CORE ON BOTTOM OF FIXED UNIT AND SCREW
TOGETHER THROUGH PRE-DRILLED HOLES

I

#8 X 1 3/4" PAN HEAD SCREWS — |

3/8" SCREW CAP

SCALE: 1:2

DRILL & COUNTERSINK FOR A #8 SCREW
THROUGH FRAME, SPACED EQUALLY

UNDER HINGE TRACK \

3/8" SCREW CAP

#8 X 2" PAN HEAD SCREWS /%ﬂ/

SEE HORIZONTAL MULLION -
FINAL ASSEMBLY INSTRUCTIONS
FOR ADDITIONAL DETAILS

2.6.40

!

! 1y 11

T

RS NARREE

m: ERREE

HIT

Smmans a1 Y

iy

Apr 2011



Armaclc

Windows & Doors

Divislon of Sound Sclutions, LLT

(fiBeraLass ‘JHibow (DysTem

1011 COMMERCIAL AWNING

MULLING DETAILS

AWNING OVER CASEMENT PICTURE WINDOW - 1 OF 2

PRE-DRILL FOR ANCHOR SCREW DETAIL

1

e

NUMBER OF ANCHOR SCREWS REQUIRED
(By Frame Size)

Up to 47 15/16" = 4 Screws (2 in Each direction)
42" to 71 15/16" = 6 Screws (3 in each Direction)
72" and Over = 8 Screws (4 in Each Direction)

(Evenly Spaced)

ATTACH MULLION CORE TO FIXED CASEMENT UNIT

38" T0 — |

3/16" STEP DRILL

POSITIONED MULLION CORE
HOLES IN FRAME AND THROUGH

POSITION MULLION CORE FLUSH WITH OUTSIDE OF FRAME/
9/64" DRILL THROUGH EXISTING

Section 2 - IACTM

2.6.41

SCALE: 1:2

n

17/8"

APPLY 1/16" X 1/2" ON FULL LENGTH OF
PRE-CUT MULLION CORE (4 PLACES)

% Z

[

1/32" MAXIMUM
FLUSH WITH FRAME MINIMUM

T

mmmmE

s Yaul

1 00 )
7

1,
7, /7, /7, ”,
/7, /7, /7,
2, /7, /7, ”,
/7, /7, /7,
/7, /7, /7,
7 /7, /7, |
/7, /7, /7,
1 0
v/ /7. ”

=

Apr 2011



Armaclod. (JfiBeraLass JHiNpow (JysTEm
Windows! SR 1011 COMMERCIAL AWNING
- - MULLING DETAILS

AWNING OVER CASEMENT PICTURE WINDOW - 2 OF 2 SCALE: 1:2

PRE-DRILL FOR ANCHOR SCREW DETAIL

POSITION AWNING UNIT AGAINST MULLION
CORE ON BOTTOM OF FIXED UNIT AND SCREW 1]
TOGETHER THROUGH PRE-DRILLED HOLES

/

i i DRILL & COUNTERSINK FOR A #8 SCREW/ = S

THROUGH FRAME, SPACED EQUALLY pun) =y
S %i

\
Tl

114

LT

7

UNDER HINGE TRACK Tbé
Py =
J )
#8 X 1 1/2" PAN HEAD SCREWS % g / g 5/ L7 —

I

6" 6“ -
3/8" SCREW CAP D
5 #8 X 2" PAN HEAD SCREWS
NOTE: THESE SCREW HOLES
MUST BE SEALED OFF.
| It N
=) = AN N
) HarYem = % L\
i (o - ) ) 9/64" DRILL THROUGH EXISTING %; o & %
S T HOLES IN FRAME AND THROUGH = g
Y 2 POSITIONED MULLION CORE N —

SEE HORIZONTAL MULLION -
FINAL ASSEMBLY INSTRUCTIONS
- FOR ADDITIONAL DETAILS -

Section 2 - IACTM 2.6.42 Apr 2011



Armaclac. (JfiseraLass JHivbow (ystem
Windows Sl 1011 COMMERCIAL AWNING

Divislon of Sound Sclutions, LLT

MULLING DETAILS

AWNING OVER CASEMENT PICTURE WINDOW - 1 OF 2

PRE-DRILL FOR ANCHOR SCREW DETAIL

— 5"’__7 A‘S"_._

NUMBER OF ANCHOR SCREWS REQUIRED
(By Frame Size)

Up to 47 15/16" = 4 Screws (2 in Each direction)
42" to 71 15/16" = 6 Screws (3 in each Direction)
72" and Over = 8 Screws (4 in Each Direction)

(Evenly Spaced)

ATTACH MULLION CORE TO FIXED CASEMENT UNIT

3/8" TO 3/16" STEP DRILL —T|

POSITION MULLION CORE FLUSH WITH OUTSIDE OF FRAME/

Section 2 - IACTM

2.6.43

- FLUSH WITH FRAME MINIMUM

SCALE: 1:2

11/2"

APPLY 1/16" X 1/2" ON FULL LENGTH OF
PRE-CUT MULLION CORE (4 PLACES)

% Z

NS

1/32" MAXIMUM

HOLES IN FRAME AND THROUGH
POSITIONED MULLION CORE

9/64" DRILL THROUGH EXISTING HOLE IN

Apr 2011



Armaclad. (JfBercLass JHinbow (FysTeu
Windows! SR 1011 COMMERCIAL AWNING
h - MULLING DETAILS

AWNING OVER CASEMENT PICTURE WINDOW - 2 OF 2 SCALE: 1:2

PRE-DRILL FOR ANCHOR SCREW DETAIL

POSITION AWNING UNIT AGAINST MULLION
CORE ON BOTTOM OF FIXED UNIT AND SCREW ]
TOGETHER THROUGH PRE-DRILLED HOLES

f f DRILL & COUNTERSINK FOR A #8 SCREW/
THROUGH FRAME, SPACED EQUALLY
UNDER HINGE TRACK

#8 X 1 3/4" PAN HEAD SCREWS

3/8" SCREW CAP \

3/8" SCREW CAP D

#8 X 2" PAN HEAD SCREWS
NOTE: THESE SCREW HOLES
MUST BE SEALED OFF. ~|

/

7L
&

4
i
[

9/64" DRILL THROUGH EXISTING b&f\? 51
HOLES IN FRAME AND THROUGH

POSITIONED MULLION CORE

(i
T
1111

t HIE

SEE HORIZONTAL MULLION -
FINAL ASSEMBLY INSTRUCTIONS
FOR ADDITIONAL DETAILS

Section 2 - IACTM 2.6.44 Apr 2011



Armaclac.
Windows & Doors

Divislon of Sound Sclutions, LLT

MULLING DETAILS

(JfiBeraLass JHiNpow (JysTEm
1011 COMMERCIAL AWNING

AWNING BESIDE CASEMENT PICTURE WINDOW - 1 OF 2

PRE-DRILL FOR ANCHOR SCREW DETAIL

i

f

NUMBER OF ANCHOR SCREWS REQUIRED
(By Frame Size)

Up to 47 15/16" = 4 Screws (2 in Each direction)
42" to 71 15/16" = 6 Screws (3 in each Direction)
72" and Over = 8 Screws (4 in Each Direction)

(Evenly Spaced)

ATTACH MULLION CORE TO FIXED CASEMENT UNIT

1||

17/8"

FLUSH WITH FRAME MINIMUM

1/32" MAXIMUM

SCALE: 1:2

N
\~ 3/8" TO 3/16" STEP DRILL

APPLY 1/16" X 1/2" ON FULL LENGTH OF
PRE-CUT MULLION CORE (4 PLACES)

N

=
N
Q
Q N
N\
N Q
QNS
S N\
NN\
N S\
SN\
AN
N OON

|||
A
o5 NN
Ll M\ SV \
ee—xr=2t

Section 2 - IACTM

\POSITION MULLION CORE FLUSH WITH OUTSIDE OF FRAME

2.6.45

9/64" DRILL THROUGH EXISTING
HOLES IN FRAME AND THROUGH
POSITIONED MULLION CORE

Apr 2011



Armaclad. (JfiseraLass JHivbow (ystem

Windows & D66 1011 COMMERCIAL AWNING
| MULLING DETAILS
AWNING BESIDE CASEMENT PICTURE WINDOW - 2 OF 2 SCALE: 1:2
PRE-DRILL FOR ANCHOR SCREW DETAIL
POSITION AWNING UNIT AGAINST MULLION CORE

BESIDE FIXED UNIT AND SCREW TOGETHER
THROUGH PRE-DRILLED HOLES

—

‘\
B

7/8"

|
= \

#8 X 1 1/2" PAN HEAD SCREWS

DRILL & COUNTERSINK FOR A #8 SCREW
THROUGH FRAME, SPACED EQUALLY
UNDER HINGE TRACK

9/64" DRILL THROUGH HOLE IN FRAME
MULLION CORE UNDER HINGE TRACK

N
SEE HORIZONTAL MULLION -
FIVLASSEHBLy iSTRUCTIONS 52 s sTamsss
STEEL FLAT HEAD SCREWS

NOTE: THESE SCREW HOLES
MUST BE SEALED OFF.

Section 2 - IACTM 2.6.46 Apr 2011



Armaclaod.

Windows & Doors

Divislon of Sound Sclutions, LLT

MULLING DETAILS

(JfiBeraLass JHiNpow (JysTEm
1011 COMMERCIAL AWNING

AWNING BESIDE CASEMENT PICTURE WINDOW - 1 OF 2

PRE-DRILL FOR ANCHOR SCREW DETAIL

i

f

NUMBER OF ANCHOR SCREWS REQUIRED
(By Frame Size)

Up to 47 15/16" = 4 Screws (2 in Each direction)
42" to 71 15/16" = 6 Screws (3 in each Direction)
72" and Over = 8 Screws (4 in Each Direction)

(Evenly Spaced)

ATTACH MULLION CORE TO FIXED CASEMENT UNIT

11/2"

SCALE: 1:2

=3)

FLUSH WITH FRAME MINIMUM

1/32" MAXIMUM

7
13/8" TO 3/16" STEP DRILL

APPLY 1/16" X 1/2" ON FULL LENGTH OF

N

Y

PRE-CUT MULLION CORE (4 PLACES)

9/64" DRILL THROUGH EXISTING HOLE IN

HOLES IN FRAME AND THROUGH
POSITIONED MULLION CORE/

|

\\

| /)

@

Section 2 - IACTM

\POSITION MULLION CORE FLUSH WITH OUTSIDE OF FRAME

2.6.47

Apr 2011



Armaclad. (JfBercLass JHinbow (FysTeu
Windows! SR 1011 COMMERCIAL AWNING
h - MULLING DETAILS

AWNING BESIDE CASEMENT PICTURE WINDOW - 2 OF 2 SCALE: 1:2

PRE-DRILL FOR ANCHOR SCREW DETAIL

POSITION AWNING UNIT AGAINST MULLION CORE
BESIDE FIXED UNIT AND SCREW TOGETHER
THROUGH PRE-DRILLED HOLES

!

EENENENEEEEEE: iEEEEEE |

T

Y

N
O L b

N\

7/8"

§ R

#8 X 1 3/4" PAN HEAD SCREWS
DRILL & COUNTERSINK FOR A #8 SCREW
THROUGH FRAME, SPACED EQUALLY
UNDER HINGE TRACK

T

I EEEEEEEEEEEEEEEEEEE!

9/64" DRILL THROUGH HOLE IN FRAME
MULLION CORE UNDER HINGE TRACK

EEEEEENERNEEN i AREESS=

SEE HORIZONTAL MULLION -
FINAL ASSEMBLY INSTRUCTIONS
FOR ADDITIONAL DETAILS

#8 X 2 1/4" STAINLESS
STEEL FLAT HEAD SCREWS

NOTE: THESE SCREW HOLES
MUST BE SEALED OFF.

Section 2 - IACTM 2.6.48 Apr 2011



Armaclac.
Windows & Doors

Divislon of Sound Sclutions, LLT

(JfiBeraLass JHiNpow (JysTEm
1011 COMMERCIAL AWNING

MULLING DETAILS

CASEMENT PICTURE WINDOW BESIDE AWNING - 1 OF 2

PRE-DRILL FOR ANCHOR SCREW DETAIL

+

B
-

LN

NUMBER OF ANCHOR SCREWS REQUIRED

(By Frame Size)

Up to 47 15/16" = 4 Screws (2 in Each direction)
42" to 71 15/16" = 6 Screws (3 in each Direction)
72" and Over = 8 Screws (4 in Each Direction)

(Evenly Spaced)

ATTACH MULLION CORE TO FIXED CASEMENT UNIT

?

I
L /A
-/

3/8" TO 3/16" STEP DRILL

SCALE: 1:2

1n

Section 2 - IACTM

\POSITION MULLION CORE FLUSH WITH OUTSIDE OF FRAME

2.6.49

APPLY 1/16" X 1/2" ON FULL LENGTH OF
PRE-CUT MULLION CORE (4 PLACES)

N

1/32" MAXIMUM

FLUSH WITH FRAME MINIMUM

9/64" DRILL THROUGH EXISTING
HOLES IN FRAME AND THROUGH
POSITIONED MULLION CORE

Apr 2011



Armaclod. (JfiBeraLass JHiNpow (JysTEm
Windows! SR 1011 COMMERCIAL AWNING
- - MULLING DETAILS

CASEMENT PICTURE WINDOW BESIDE AWNING - 2 OF 2 SCALE: 1:2

PRE-DRILL FOR ANCHOR SCREW DETAIL

POSITION AWNING UNIT AGAINST MULLION CORE
BESIDE FIXED UNIT AND SCREW TOGETHER
THROUGH PRE-DRILLED HOLES

7/8"

N=

#8 X 1 1/2" PAN HEAD SCREWS

DRILL & COUNTERSINK FOR A #8 SCREW
THROUGH FRAME, SPACED EQUALLY
UNDER HINGE TRACK

9/64" DRILL THROUGH HOLE IN FRAME
MULLION CORE UNDER HINGE TRACK

SEE HORIZONTAL MULLION -
FINAL ASSEMBLY INSTRUCTIONS )

FOR ADDITIONAL DETAILS #8 X 21/4" STAINLESS
STEEL FLAT HEAD SCREWS

NOTE: THESE SCREW HOLES
MUST BE SEALED OFF.

Section 2 - IACTM 2.6.50 Apr 2011



Armaclad. (JfiBeraLass JHiNpow (JysTEm
Windows S 1011 COMMERCIAL AWNING
- - MULLING DETAILS

CASEMENT PICTURE WINDOW BESIDE AWNING - 1 OF 2 SCALE: 1:2

PRE-DRILL FOR ANCHOR SCREW DETAIL

+

I
-

LN

?

NUMBER OF ANCHOR SCREWS REQUIRED
(By Frame Size)

L

Up to 47 15/16" = 4 Screws (2 in Each direction) 3/8" TO 3/16" STEP DRILL
42" to 71 15/16" = 6 Screws (3 in each Direction)
72" and Over = 8 Screws (4 in Each Direction)

(Evenly Spaced)

APPLY 1/16" X 1/2" ON FULL LENGTH OF
PRE-CUT MULLION CORE (4 PLACES)

N

ATTACH MULLION CORE TO FIXED CASEMENT UNIT

N

9/64" DRILL THROUGH EXISTING HOLE IN
HOLES IN FRAME AND THROUGH
\POSITIONED MULLION CORE

Y I

N
T2 SNSRN
NN\ N\
AN
\
N

.

FLUSH WITH FRAME MINIMUM

1/32" MAXIMUM

\POSITION MULLION CORE FLUSH WITH OUTSIDE OF FRAME

Section 2 - IACTM 2.6.51 Apr 2011



Armaclad. (JfBercLass JHinbow (FysTeu
Windows! SR 1011 COMMERCIAL AWNING
h - MULLING DETAILS

CASEMENT PICTURE WINDOW BESIDE AWNING - 2 OF 2 SCALE: 1:2

PRE-DRILL FOR ANCHOR SCREW DETAIL

POSITION AWNING UNIT AGAINST MULLION CORE
BESIDE FIXED UNIT AND SCREW TOGETHER
THROUGH PRE-DRILLED HOLES

TS e

d

7/ 7 =
////// ///F l \

\ / 2\

7/
7
.7 //V

7/8"

#8 X 1 3/4" PAN HEAD SCREWS

DRILL & COUNTERSINK FOR A #8 SCREW
THROUGH FRAME, SPACED EQUALLY
UNDER HINGE TRACK

IEEEm=—

@

9/64" DRILL THROUGH HOLE IN FRAME
MULLION CORE UNDER HINGE TRACK

ST

SEE HORIZONTAL MULLION -
FINAL ASSEMBLY INSTRUCTIONS .
FOR ADDITIONAL DETAILS #8 X 2.1/4" STAINLESS
STEEL FLAT HEAD SCREWS
NOTE: THESE SCREW HOLES
MUST BE SEALED OFF.

Section 2 - IACTM 2.6.52 Apr 2011



Armaclod. (JfiBeraLass JHiNpow (JysTEm
Windows! SR 1011 COMMERCIAL AWNING
- - MULLING DETAILS

SINGLE VENT CASEMENT OVER AWNING - 1 OF 2 SCALE: 1:2
—— 5" ’-—7 ‘-‘ 5" [——
17/16"
j j ]

7/16"

3/8"T0 — |
NUMBER OF ANCHOR SCREWS REQUIRED 3/16" STEP DRILL
(By Frame Size)
Up to 47 15/16" = 4 Screws (2 in Each direction) —
42" to 71 15/16" = 6 Screws (3 in each Direction)
72" and Over = 8 Screws (4 in Each Direction)
(Evenly Spaced)

APPLY 1/16" X 1/2" ON FULL LENGTH OF
PRE-CUT MULLION CORE (4 PLACES)

% Z

ATTACH MULLION CORE TO FIXED CASEMENT UNIT

1/32" MAXIMUM
FLUSH WITH FRAME MINIMUM

\

POSITIONED MULLION CORE
HOLES IN FRAME AND THROUGH
9/64" DRILL THROUGH EXISTING

POSITION MULLION CORE FLUSH WITH OUTSIDE OF FRAME

Section 2 - IACTM 2.6.53 Apr 2011



Arma . (fiBeraLass JHiNbow (JYSTEM

W‘"dfmst’g"“f 1011 COMMERCIAL AWNING
o - MULLING DETAILS

i

SINGLE VENT CASEMENT OVER AWNING - 2 OF 2

PRE-DRILL FOR ANCHOR SCREW DETAIL

POSITION AWNING UNIT AGAINST MULLION CORE

TOGETHER THROUGH PRE-DRILLED HOLES

DRILL & COUNTERSINK FOR A #8 SCREW
THROUGH FRAME UNDER HINGE TRACK
\

S

/

#8 X 1 3/4" PAN HEAD SCREWS
NOTE: THESE SCREW HOLES
MUST BE SEALED OFF

3/8" SCREW CAP

Vi

''''' #8 X 1 1/2" STAINLESS
STEEL FLAT HEAD SCREWS
(2 PLACES)

NOTE: THESE SCREW HOLES
MUST BE SEALED OFF.

—

Section 2 - IACTM 2.6.54

ON BOTTOM OF CASEMENT UNIT AND SCREW T |

SCALE: 1:2

Apr 2011



Armaclac. (JfiseraLass JHivbow (ystem
Windows Sl 1011 COMMERCIAL AWNING

Divislon of Sound Sclutions, LLT

M

ULLING DETAILS

AWNING OVER SINGLE VENT CASEMENT - 1 OF 2 SCALE: 1:2

PRE-DRILL FOR ANCHOR SCREW DETAIL

— 5!__7 ‘_!5_._

NUMBER OF ANCHOR SCREWS REQUIRED
(By Frame Size)

Up to 47 15/16" = 4 Screws (2 in Each direction)
42" to 71 15/16" = 6 Screws (3 in each Direction)
72" and Over = 8 Screws (4 in Each Direction)

(Evenly Spaced)

ATTACH MULLION CORE TO FIXED CASEMENT UNIT

Section 2 - IACTM

POSITION MULLION CORE FLUSH WITH OUTSIDE OF FRAME/

17/16"

|<—>

3/8"TO — |
3/16" STEP DRILL

APPLY 1/16" X 1/2" ON FULL LENGTH OF
PRE-CUT MULLION CORE (4 PLACES)

% Z

1/32" MAXIMUM
FLUSH WITH FRAME MINIMUM

\

POSITIONED MULLION CORE
HOLES IN FRAME AND THROUGH
9/64" DRILL THROUGH EXISTING

2.6.55 Apr 2011



Arma . (fiBeraLass JHiNbow (JYSTEM

W‘"dfmst’g"“f 1011 COMMERCIAL AWNING
o - MULLING DETAILS

i

AWNING OVER SINGLE VENT CASEMENT - 2 OF 2 SCALE: 1:2

PRE-DRILL FOR ANCHOR SCREW DETAIL
° © POSITION AWNING UNIT AGAINST MULLION CORE ON TOP OF CASEMENT

UNIT AND SCREW TOGETHER THROUGH PRE-DRILLED HOLES

DRILL & COUNTERSINK FOR A

#8 SCREW THROUGH FRAME, SPACED
EQUALLY UNDER HINGE TRACK

3/8" SCREW CAP
MUST BE SEALED OFF
NOTE: THESE SCREW HOLES
#8 X 1 3/4" PAN HEAD SCREWS

6" 6"

3/8" SCREW CAP\ [ [/— \ D

#8 X 2" PAN HEAD SCREWS
NOTE: THESE SCREW HOLES
MUST BE SEALED OFF. ~_

7

9/64" DRILL THROUGH EXISTING
HOLES IN FRAME AND THROUGH
POSITIONED MULLION CORE

SEE HORIZONTAL MULLION -
FINAL ASSEMBLY INSTRUCTIONS
FOR ADDITIONAL DETAILS

Section 2 - IACTM 2.6.56 Apr 2011



Armaclad. (JfiseraLass JHivbow (ystem
Windows & Doors 1011 COMMERCIAL AWNING
MULLING DETAILS

Divislon of Sound Sclutions, LLT

AWNING BESIDE SINGLE VENT CASEMENT - 1 OF 2 SCALE: 1:2

PRE-DRILL FOR ANCHOR SCREW DETAIL

NUMBER OF ANCHOR SCREWS REQUIRED
(By Frame Size)

Up to 47 15/16" = 4 Screws (2 in Each direction)
42" to 71 15/16" = 6 Screws (3 in each Direction)
72" and Over = 8 Screws (4 in Each Direction)

(Evenly Spaced)

ATTACH MULLION CORE TO FIXED CASEMENT UNIT

7/8"

DRILL & COUNTERSINK FOR A #8 SCREW
THROUGH FRAME, SPACED EQUALLY
UNDER HINGE TRACK

APPLY 1/16" X 1/2" ON FULL LENGTH OF
PRE-CUT MULLION CORE (4 PLACES)

N

—

9/64" DRILL THROUGH EXISTING
HOLES IN FRAME AND THROUGH

POSITIONED MULLION CORE

Section 2 - IACTM

\POSITION MULLION CORE FLUSH WITH OUTSIDE OF FRAME

2.6.57 Apr 2011



Armaclac. (fiBeraLass ‘JHibow (DysTem
Windows SN 1011 COMMERCIAL AWNING
S MULLING DETAILS

AWNING BESIDE SINGLE VENT CASEMENT - 2 OF 2 SCALE: 1:2

POSITION CASEMENT UNIT AGAINST MULLION CORE
OM AWNING UNIT AND SCREW TOGETHER
THROUGH PRE-DRILLED HOLES

| |
\ fq \ \
ARG M e
/ \

O
d “
s\
(=
o |
WI\/

\ 5
\ M -/ / \
#8 X 1 1/2" STAINLESS
STEEL FLAT HEAD SCREWS
NOTE: THESE SCREW HOLES
MUST BE SEALED OFF.

9/64" DRILL THROUGH HOLE IN TIE BAR GUIDE,
FRAME AND MULLION CORE (1 HOLE IN
UPPER GUIDE AND 1 HOLE IN LOWER GUIDE,
INSURING TIE BAR GUIDES ARE OPPOSITE
THE AWNING FRAME)

\D&f_q _L:HJD\l

A <A [ H [ T1THHIA H v
I |
S 3 [ Lal
\ l 1 (HH T AHHHH N \
=@l h =
| \ |
#8 X 1 1/2" STAINLESS

STEEL FLAT HEAD SCREWS #8 X 2 1/2" PAN HEAD SCREWS

NOTE: THESE SCREW HOLES
MUST BE SEALED OFF.

SEE HORIZONTAL MULLION -
FINAL ASSEMBLY INSTRUCTIONS
FOR ADDITIONAL DETAILS

Section 2 - IACTM 2.6.58 Apr 2011



Armaclad. (JfiseraLass JHivbow (ystem
Windows xS 1011 COMMERCIAL AWNING
- - MULLING DETAILS

SINGLE VENT CASEMENT BESIDE AWNING - 1 OF 2 SCALE: 1:2

PRE-DRILL FOR ANCHOR SCREW DETAIL

N
I 4
| N ©
I N
=
NUMBER OF ANCHOR SCREWS REQUIRED
(By Frame Size) DRILL & COUNTERSINK FOR A #8 SCREW
THROUGH FRAME, SPACED EQUALLY
Up to 47 15/16" = 4 Screws (2 in Each direction) UNDER HINGE TRACK

42" to 71 15/16" = 6 Screws (3 in each Direction)
72" and Over = 8 Screws (4 in Each Direction)

(Evenly Spaced) APPLY 1/16" X 1/2" ON FULL LENGTH OF
PRE-CUT MULLION CORE (4 PLACES)

N

ATTACH MULLION CORE TO FIXED CASEMENT UNIT

} N

=
dl

9/64" DRILL THROUGH EXISTING
HOLES IN FRAME AND THROUGH

\ POSITIONED MULLION CORE
POSITION MULLION CORE FLUSH WITH OUTSIDE OF FRAME

Section 2 - IACTM 2.6.59 Apr 2011




Armaclac. (fiBeraLass ‘JHibow (DysTem

Windows! SR 1011 COMMERCIAL AWNING
I MULLING DETAILS
SINGLE VENT CASEMENT BESIDE AWNING - 2 OF 2 SCALE: 1:2

POSITION CASEMENT UNIT AGAINST MULLION CORE
OM AWNING UNIT AND SCREW TOGETHER
THROUGH PRE-DRILLED HOLES

#8 X 1 1/2" STAINLESS
STEEL FLAT HEAD SCREWS

NOTE: THESE SCREW HOLES
MUST BE SEALED OFF.

9/64" DRILL THROUGH HOLE IN TIE BAR GUIDE,
FRAME AND MULLION CORE (1 HOLE IN
UPPER GUIDE AND 1 HOLE IN LOWER GUIDE,
INSURING TIE BAR GUIDES ARE OPPOSITE
THE AWNING FRAME)

|
\
@ (= _
+_ ERNEARY fase )
] /
—
9

\ D

\ ‘ R THEY
| '&L%M
| /

#8 X 1 1/2" STAINLESS
#8 X 2 1/2" PAN HEAD SCREWS STEEL FLAT HEAD SCREWS

NOTE: THESE SCREW HOLES
MUST BE SEALED OFF.

SEE HORIZONTAL MULLION -
FINAL ASSEMBLY INSTRUCTIONS
FOR ADDITIONAL DETAILS

Section 2 - IACTM 2.6.60 Apr 2011



Armaclad. (JiseraLass JHibow (ystem
Windows & Doors 1011 COMMERCIAL AWNING
B 1" ARCHITECTURAL MULLION

MULLION CORE SV 31-A PREPARATION SCALE: 1:1

i

7 7Y

.625
o
re)
R ~
_%:,_,_ 1
o
=)
n
—
o
S
=
9 IF INSTALLATION BRACKET
% a IS SPECIFIED
w E DRILL 1/8" DIAMETER HOLES
% S (4 PLACES AS SHOWN)
3| w /\l\//”
< | W0
[a'd —
Gls L B
> | — |
O | w
E o
= |0
a0y
w| 2
| D
o
]
=2
(@]
-
=)
=
_%7_7_7_ -
o
=)
n
—
o b
re)
~
.625

Section 2 - IACTM 2.6.61 Mar 2011



Armaclad. (JiseraLass JHibow (ystem
Windows & Doors: 1011 COMMERCIAL AWNING
B 1" ARCHITECTURAL MULLION

MULLION COVER PREPARATION SCALE: 1:1

INTERIOR MULLION COVERS SS 53 EXTERIOR MULLION COVERS SS 54

S L Jo—L

EQUAL TO MULLION HEIGHT (OVERALL FRAME HEIGHT)
UNLESS OTHERWISE SPECIFIED
|
[
\ [
EQUAL TO MULLION HEIGHT (OVERALL FRAME HEIGHT)
UNLESS OTHERWISE SPECIFIED
|
[
| |
|

Section 2 - IACTM 2.6.62 Mar 2011



_'?-_‘-'YSTEM
Wi"dfﬁ.::if:. 1011 COMMERCIAL AWNING
B MULLING DETAILS

Arma . (iBERcLass Jinbow (¢

VERTICAL MULLION - FINAL ASSEMBLY INSTRUCTIONS SCALE: 1:2

STEP 1 - Size and Cut To Length all Interior and Exterior Mullion Clips (SV 31)

STEP 2 - Apply a 3/8" x 3/8" Round Bead of Sealant along full length of all Vertical and Horizontal Mullion Cores on the exterior
side of the composite as shown.
STEP 3 - Snap Mullion Cover (SS 54) into the frame accessory grooves on the exterior side of the composite using a light mallet.

STEP 4 - Apply a 3/8" x 3/8" Round Bead of Sealant along full length of all Vertical and Horizontal Mullion Cores on the interior
side of the composite as shown.

STEP 5 - Snap Mullion Cover (SS 53) into the frame accessory grooves on the interior side of the composite using a light mallet.

STEP 6 - Completely seal both ends of mullion with Dow Corning 95 Silicone Structural Adhesive.

STEP 7 - Apply a 5/16" diameter application of Dow Corning 95 Silicone Structural Adhesive over each screw hole on one side of
the SV 31-B Support Bar nsuring that each hole will be sealed off when itr is Screwed in place.

STEP 8 - Apply continuous beads of Dow Corning 95 Silicone Structural Adhesive along length the Support Bar and position Bar
on the top end of the mullion as close to the interior side as possible, caulking side down.

STEP 9 - Fasten the Support Bar in place using #8 x 1" Pan Head Screws, 3 on each side of mullion.
STEP 10 - Repeat STEPS 6 through 9 on bottom end of mullion.

STEP 11 - Completely cover and seal both top and bottom ends of the mullion using an Ice & Water Shield Membrane. To
achieve the required result, the membrane should extend at least 1" past both ends of the support bars.

STEPS 7 & 8

588 e e o] M

SV 31-B - SUPPORT BAR }/

Section 2 - IACTM 2.6.63 Apr 2011




_'?-_‘-'YSTEM
Wi"dfﬁ.::if:. 1011 COMMERCIAL AWNING
B MULLING DETAILS

Arma . (iBERcLass Jinbow (¢

HORIZONTAL MULLION - FINAL ASSEMBLY INSTRUCTIONS SCALE: 1:2

STEP 1 - Size and Cut To Length all Interior and Exterior Mullion Clips (SV 31)

STEP 2 - Apply a 3/8" x 3/8" Round Bead of Sealant along full length of all Vertical and Horizontal Mullion Cores on the exterior
side of the composite as shown.
STEP 3 - Snap Mullion Cover (SS 54) into the frame accessory grooves on the exterior side of the composite using a light mallet.

STEP 4 - Apply a 3/8" x 3/8" Round Bead of Sealant along full length of all Vertical and Horizontal Mullion Cores on the interior
side of the composite as shown.
STEP 5 - Snap Mullion Cover (SS 53) into the frame accessory grooves on the interior side of the composite using a light mallet.

STEP 6 - Completely seal both ends of mullion with Dow Corning 95 Silicone Structural Adhesive.

STEP 7 - Apply a 5/16" diameter application of Dow Corning 95 Silicone Structural Adhesive over each screw hole on one side of
the SV 31-B Support Bar nsuring that each hole will be sealed off when itr is Screwed in place.

STEP 8 - Apply continuous beads of Dow Corning 95 Silicone Structural Adhesive along length the Support Bar and position Bar
on the top end of the mullion as close to the interior side as possible, caulking side down.

STEP 9 - Fasten the Support Bar in place using #8 x 1" Pan Head Screws, 3 on each side of mullion.
STEP 10 - Repeat STEPS 6 through 9 on bottom end of mullion.

STEP 11 - Completely cover and seal both top and bottom ends of the mullion using an Ice & Water Shield Membrane. To
achieve the required result, the membrane should extend at least 1" past both ends of the support bars.

STEPS 7 & 8

SV 31-B - SUPPORT BAR

¢ ¢ |
(o]

Z

-

EXX:

= Al =

Section 2 - IACTM 2.6.64 Apr 2011



Armaclad. (JfBercLass JHinbow (FysTeu
Windows G 1011 COMMERCIAL AWNING
' - 1" ARCHITECTURAL MULLION

ADJUSTABLE INSTALLATION BRACKET ATTACHMENT SCALE: 1:2

&

&

\ARMACLAD 3" X 3", 90°

INSTALLATION BRACKET SV 31-C

1/8" X 5/8" RIVETS
THROUGH HOLES IN BRACKET INTO
PRE-DRILLED HOLES IN MULLION CORE

D ——

(i
T_

Section 2 - IACTM 2.6.65 Mar 2011



Armact
Windows & Doors

Divislon of Sound Sclutions, LLT

(JfiseraLass JHivbow (ystem
1011 COMMERCIAL AWNING
1" ARCHITECTURAL MULLION

1" ARCHITECTURAL MULLION W/ INSTALLATION BRACKET

SCALE: 1:2

HH

-

NI/
HHHRHH

I
|

4

®

INSTALL WINDOW COMPOSITE INTO
OPENING USING THE PRESCRIBED
INSTALLATION METHOD AND MATERIALS

@ SHIM BETWEEN BRACKETS AND STRUCTURE
TO PROVIDE A SOLID SURFACE TO
TIGHTEN INSTALLATION SCREWS AGAINST

o=
I
i

)

iy
i

N§\J

T
T

- (3) #8 x (LENGTH AS REQUIRED) PHILLIPS
PAN HEAD SCREW THROUGH HOLES IN
BRACKET INTO BUILDING STRUCTURE

(TYPICAL TOP AND BOTTOM OF MULLION)

INSTALL PRE-CUT ARCHITECTURAL
MULLION CLIP (SV 31) OVER MULLION
ON INTERIOR SIDE

I

I]

Section 2 - IACTM

2.6.66

Mar 2011



Arma

™

Windows & Doors

Divislon of Sound Sclutions, LLT

(JfiseraLass JHiNbow (JysTem
1011 COMMERCIAL AWNING

MULLING DETAILS

4 WAY MULLION DETAILS -1 OF 4

MULLION CORE PREPARATION

7/32" 211/16" 7/32"
I
©
Al
~
i
+
'_
L T
| G
F///\I\//’/ﬂ o
T I
E
=
]
o
]
[
©
i
~
L —
|l +
_ //\J\//’/: =
T I
G
L
I
E
=
)
=
(@]
F
(@]
o

NOTE: FOR WINDOW COMPOSITES WITH 3 OR MORE UNITS
STACKED VERTICALLY, A SPECIAL SET OF DETAILS
WILL BE CREATED TO INSURE ALL SIZING AND
ASSEMBLY REQUIREMENTS HAVE BEEN ADDRESSED

Section 2 - IACTM

SCALE: 1:2

UNLESS OTHERWISE SPECIFIED

MULLION CORE LENGTH (OVERALL FRAME HEIGHT - 3/8")

3/16" DIA. DRILL W/ COUNTERSINK
FOR #8 FH SCREW (2 PLACES)

THE VERTICAL MULLION CORE
ALWAYS RUNS THROUGH
UNLESS OTHERWISE SPECIFIED

THE HORIZONTAL MULLION CORES ARE SIZED
TO TOUCH THE VERTICAL CORE AT THE JOINT AND
SIT SHORT ON THE OUTSIDE TO ALLOW FOR THE
INSTALLATION OF THE SUPPORT BAR

2.6.67 Apr 2011



Armaclad.
Windows & Doors

Divislon of Sound Sclutions, LLT

(JfiseraLass JHivbow (ystem
1011 COMMERCIAL AWNING
MULLING DETAILS

4 WAY MULLION DETAILS - 2 OF 4

PRE-DRILLING AND SUB-ASSEMBLY

- PRE-DRILL ALL INDIVIDUAL WINDOW UNITS AS REQUIRED USING THE DETAILS SHOWN ON
PAGES 2.5.41 THROUGH 2.5 58 TO LOCATE HOLE POSITION, SIZE AND TYPE.

- ASSEMBLE STACKED COMBINATIONS (HORIZONTAL MULLS) FIRST

Section 2 - IACTM

2.6.68

SCALE: 1:2

Apr 2011



Armaclad. (JfBercLass JHinbow (FysTeu
Windows! SR 1011 COMMERCIAL AWNING
h - MULLING DETAILS

4 WAY MULLION DETAILS - 3 OF 4 SCALE: 1:2

3/16" to 1/8" STEP DRILL THROUGH
EXISTING HOLES IN VERTICAL CORE
INTO HORIZONTAL CORE

/ (4 PLACES)

7/8"

FASTEN VERTICAL CORE IN PLACE
WITH #8 X 1 1/4" FLAT HEAD SCREWS

/

POSITION AND FASTEN VERTICAL MULLION CORE
TO DRILLED SIDE OF SUB-ASSEMBLIES

Section 2 - IACTM 2.6.69 Apr 2011



Armaclac. (JfisercLass Jiikbow (ysteu
Windows! SR 1011 COMMERCIAL AWNING
' - MULLING DETAILS

4 WAY MULLION DETAILS - 4 OF 4 SCALE: 1:2

- FASTEN WINDOWS VERTICAL MULLION CORE USING THE DETAILS SHOWN ON PAGES 2.5.41 THROUGH 2.5.58 TO PRE-DRILL
AND SELECT REQUIRED SCREW SIZE.

- POSITION, PRE-DRILL AND FASTEN OPPOSITE SUB-ASSEMBLY TO THE MULLION CORE USING THE DETAILS SHOWN ON
PAGES 2.5.41 THROUGH 2.5.58 TO SELECT APPROPRIATE DRILL SIZE AND SCREW REQUIREMENT.

- COMPLETE FINAL ASSEMBLY PROCESS USING DETAILS SHOWN ON PAGES 2.5.61 AND 2.5.62.

Section 2 - IACTM 2.6.70 Apr 2011



Armaclad. (JfiseraLass JHivbow (ystem

Windows & Doors 1011 COMMERCIAL AWNNG
PAN-011 - THERMALLY BROKEN ANCHOR CLIP

Divislon of Sound Sclutions, LLT

ANCHOR CLIP

SCALE: 1:1

Extruded aluminum, thermally broken profile custom designed for the Armaclad Fiberglass Window offering. This product is easy
to attach to the window frame with no fasteners required and provides a solid anchor for the window installation.

5 3/16"

.078

3/16" DIA HOLE
(2 PLACES)

3/4"

3/4" 31/2"

3/4"

Section 2 - IACTM 2.6.71

Feb 2011



Armaciad. (Jiseraiass Jiikbow (ystem
Windows & Doors: 1011 COMMERCIAL AWNNG
T PAN-011 - THERMALLY BROKEN ANCHOR CLIP

ANCHOR CLIP "SNAP IN" ATTACHMENT SCALE: 1:2

The Armaclad Thermally Broken Anchor Clip has been designed to "Snap" install directly into a T slot in the back side of the
frame or into a specially designed slot system in the Armaclad exterior pannings.

Attach directly to Frame

mn Anchor Clip on window assembly
in required location and nest into Frame
‘ or Panning as shown
Strike Anchor Clip with Mallet to lock it

into place

|

Ld—

N

Attach to Panning

e

NOTE: Anchor Clips are normally attached on the job site just prior to the installation of the window into the building structure.
Attaching the clips prior to this time would make moving and storing the window product difficult and they could catch or
snag a stationary object causing damage to the window frame or the object they have come in contact with.

1
~

[

Section 2 - IACTM 2.6.72 Feb 2011



Armaclacd. (fiBeraLass ‘JHibow (DysTem
Windﬂ:’:ﬁo’gﬂi‘i’h‘:‘i 1011 COMMERCIAL AWNNG
e PAN-011 - THERMALLY BROKEN ANCHOR CLIP

ANCHOR CLIP "SLIDE IN" ATTACHMENT SCALE: 1:2

The Armaclad Thermally Broken Anchor Clip has been designed to Slide into the "T" slot in the back side of the frame or the
Armaclad exterior pannings from corners that have been prepared with clearance openings.

Using a 1/2" Diameter "Drum Style" Sander
clear the corner material away to open the
end of the "T" Slots

L B ' .
TOP/BOTTOM VIEW Clearance Openings to be cut in
opposite corners, one top and
one bottom to open all four sides
SIDE VIEW to accept the Anchor Clip

] R

NOTE: Anchor Clips are normally attached on the job site just prior to the installation of the window into the building structure.
Attaching the clips prior to this time would make moving and storing the window product difficult and they could catch or
snag a stationary object causing damage to the window frame or the object they have come in contact with.

Section 2 - IACTM 2.6.73 Mar 2011



__';_'-'-_""YSTEM
Windfﬁ.f:if:- 1011 COMMERCIAL AWNNG
enes e e GLAZING

Arma . (fBERGLASS ‘JHiNDOW (¢

CROSS SECTION DETAIL SCALE: 1:1

STANDARD GLAZING INSTRUCTIONS

STEP 1 - Apply a continuous bead of Dow Corning (CWS) Contractors Weatherproofing Sealant around the perimeter of the
assembled sash glazing leg insuring that it is large enough to touch the glass all the way around.

STEP 2 - Place specified insulating glass unit into the glazing cavity letting it rest against the glazing leg.

STEP 3 - Insert appropriate glazing shims between the insulating glass unit and the frame wall positioning them on all four sides,
2" to 3" from each corner.

Step 4 - Press Glazing Stops into kerf on sash using a light mallet.

7

COMMERCIAL/IMPACT GLAZING INSTRUCTIONS

STEP 1 - Apply a heavy continuous bead of Dow Corning (CWS) Contractors Weatherproofing Sealant around the perimeter of
the assembled sash glazing leg insuring that it is large enough to touch the glass all the way around.

STEP 2 - Place specified insulating glass unit into the glazing cavity letting it rest against the glazing leg.

STEP 3 - Insert appropriate glazing shims between the insulating glass unit and the sash wall positioning them on all four sides,
2" to 3" from each corner.

STEP 4 - Fill the cavity between the insulating glass unit and the sash wall with Dow Corning (CWS) Contractors Weatherproofing
Sealant around the full perimeter allowing the material to touch the interior of the glass under the stop, insuring a
complete seal.

Step 5 - Press Glazing Stops into kerf on sash using a light mallet.

M L\

\

R

Section 2 - IACTM 2.6.74 Feb 2011



